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MARGARET BRYCE SMITH SCHOLARSHIPS, 1975

Answer ALL gquestions.
for untidy work.

ARTITHMLTIC PAPER I
Time allowed: 1 hour

All working to be shown.

Marks will be deducted
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1. How many pence are there in 3
" 27 2"'9
2. Reduce the followingz fractions to
15 S 2]
(1) 50 (11) Gin
Se 1nd the value of:
(1) % of 3 hours (ii) %

of 5 metres
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Le Simplify
(a) 8¢9 + 16 + 07 .
(b) 19 - 7-52
o) T3 5 \>
- 4.‘6 ’-‘J-D
GRS NS0 se
5. (a) HMultiply 765 by 307
(b) Divide 1469 by 13 \SO ¢ ¢
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(d) Divide 2838 by 1l-1 2 r gjh
; 5% 0 ecie
5 (a) £dd 42 to 2= 1A 1%
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(b) Subtract 2% rom_u— -
7. _Multiply 2% by 1z : '20 :
e = i 1 25)139
. ivi =
8 Divide 17 v 23 é%'k_;fiik
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9. Change &55 into a decimal 7§ / \
10. How many seconds are there between 11.34 a.m. and 12.40 p.m.? \\\
1l. A candidate obtained L8 out of 250. Ixpress this as a percentageﬁ
R e ——— i = - ™ ks
15, £ t=ndidate obtalned 36% 1in an eXamiNnations I -125were available,
how many did he obtain? ‘
13. What fraction is 3 ecms 2mm of 1 km ?
1. How many bottles containing 350 cc each can be filled from aQ_
barrel ;ontawnlng 200 11tres, and how much is left? (1 litre =
1000 cc 5 100 o
H5) Valls are sold in two wayse. lMethod A: 200 cost 47p. HMethod B:
+ kgm costs 50p. If eacl nail weighs 2 gms explain clearly which
method, A or B, is the more economical.
16. On average there are eight words per line in a book. If

there

are 4O pages in the book, and the book contains 6400 words in all,
what is the average number of lines per page.



